PRODIRECTIONAL

(Scale: 5":100' (10"))

5 Inch MD-Gamma Ray Log

Company: Tapstone Energy
Well: Schrock 3410 35-1H
Field: Mississippi Lime

Well ID: DC14012 / 130092
Job Number: LKS6113414

Location: SEC 35 T34S, R 10W

Operator 1: Ken Mitchell
Operator 2: Nathan Chesser

Comment 1: LAT: 37° 2' 58.652 N/ LONG: 98° 22' 19.010 W
Comment 2: Y: 139469.00 / X: 2037374.00
Comment 3: Mud Density (Ib/bbl): 9.2 / Funnel Viscosity (sec/qt): 34

State: KS
County: Barber
Country: USA

Elev KB: 22' + 1,332' = 1,354

Elev DF: 1,354’
Elev GL: 1,332’

Comment 4: Flowline Temp (DegF): 88° / HTHP Filtrate (mL/30 min): 99

Comment 5: Max Temp (DegF): 162 / (NAD1927) Gamma Ray in Refernece to Elev KB (Kansas South 1502)
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Hole Data Casing Record

Size From To Size From To
12 1/4 0' 830 95/8 0' 830
8 3/4 830 5,237 7" 0' 5,231
61/2 5,237' 9,027

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 1762 3010 1762

Cal Factor 4.65 2.699 4.65

Gamma Offset 38' 43' 43'

Start Depth 3,258' 5,199 7,080’

Start Date 8/17/2014 8/21/2014 08/23/14

Start Time 16:01 23:19 19:17

End Depth 5,199 7,080' 8,984’

End Date 8/20/2014 08/23/14 08/25/14

End Time 6:01 08:31 02:52
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